

Neuk; : 60 epkplk;                             kjpg;ngz; : 25 

I. rhpahd tpiliaj; Nju;e;njLj;J vOJf.                         𝟑 × 𝟏 = 𝟑 

1. rpwg;G + cilahu; vd;gjidr; Nru;j;J vOjf; fpilf;Fk; nrhy; ________ 

  m) rpwg;Gcilahu; M) rpwg;Gilahu; ,) rpwg;gilahu; <) rpwg;gpilahu; 

2. khztu; gpwu; _________ elf;ff; $lhJ. 

  m) Nghw;Wk;gb  M) J}w;Wk;gb  ,) ghu;f;Fk;gb <) tpaf;Fk;gb 

3. gs;spf;$lk; nry;yhjjw;F MLNka;f;Fk; rpWtu;fs; $wpa fhuzk; ___________ 

  m) ML Nkaf;f Ms; ,y;iy  M) Cupy; gs;spf;$lk; ,y;iy 
  ,) top njupatpy;iy   <) NgUe;J trjpapy;iy 

II. Nfhbl;l ,lq;fis epug;Gf.                                   𝟑 × 𝟏 = 𝟑 

4. Foe;ijfs; gs;spapy; Vw;wj;jho;tpd;wpg; gbf;f _____________ mwpKfg;gLj;jpdhu;.  
5. khrw vd;Dk; nrhy;iyg; gpupj;J vOjf; fpilg;gJ __________. 
6. ehk; ________ nrhy;gb elf;f Ntz;Lk;. 

III. nrhw;nwhlupy; mikj;J vOJf.                                𝟐 × 𝟏/𝟐 = 𝟏 

7. Vl;Lf; fy;tp _____________________ 
8. Nrhk;gy; _________________________. 

IV.  nrhw;nwhlupy; mikj;J vOJf.                             𝟐 × 𝟏/𝟐 = 𝟏 

9. tFg;G  
10. cau;fy;tp  

V. gpd;tUk; nrhw;fisj; jpUj;jp vOJf.                             𝟒 × 𝟏/𝟐 = 𝟐 
gpio    jpUj;jk; 

11. njz;wy;   ______________. 
12. fd;lk;    ______________. 

13. ed;up    _____________. 

14. kd;lgk;   ______________. 

VI. gpd;tUk; tpdhf;fSs; vitNaDk; %d;W tpdhf;fSf;F %d;W thpfspy;              
tpilaspf;fTk;                                                     𝟑 × 𝟐 = 𝟔 

15. vij ek;gp thof; $lhJ? 
16. fw;wtupd; ngUikfshf %Jiu $Wtd ahit? 
17. fhkuhru; Kjy;tuhfg; nghWg;Ngw;wJk; fy;tpf;fhfr; nra;j Kjy; gzp ahJ? 
18. ,d vOj;Jfs; vd;why; vd;d? 

VII. gpd;tUk; tpdhf;fSs; vitNaDk; ,uz;L tpdhf;fSf;F MW thpfspy;     
tpilaspf;fTk;.                                                𝟐 × 𝟑 = 𝟔 

19. mz;zh E}w;whz;L E}yfj;ijg; gw;wpr; RUf;fkhf vOJf. 
20. ‘ePq;fs; Kjyikr;ruhdhy; fy;tp Kd;Ndw;wj;jpw;fhf vd;ndd;d jpl;lq;fis 

tFg;gPu;fs;? 
21. ‘Vl;Lf; fy;tp kl;Lk; fy;tp ,y;iy’ vd;Dk; jiyg;gpy; NgRf. 

VIII. mbgpwohky; vOJf.                                           𝟒 × 𝟏 = 𝟒 

22. ‘rpwg;G’ vdj; KbAk; %Jiu ghliy vOJf. 

******* 


